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General instruction: 

1. The Question Paper contains 3 sections. 

2. Section A has 24 questions attempt any 20 questions. 

3. Section B has 24 questions attempt any 20 questions. 

4. Section C has 12 questions attempt any 10 questions. 

5. All questions carry equal marks. 

6. There is no negative marking. 

SECTION-A 

1 Business risk is not likely to arise due to 

(a) Changes in government policy 

(b) Good management 

(c) Employee dishonesty 

(d) Power failure 

0.8 

2 The industries which provide support services to other industries are known as 

(a) Primary industries 

(b) Secondary industries 

(c) Commercial industries 

(d) Tertiary industries 

0.8 

3 The occupation in which people work for others and get remunerated in return is known 

as 

(a) Business 

(b) Profession 

(c) Employment 

(d) None of these 

0.8 

4 Which of the following does not characterize business activity? 

(a) Production of goods & services 

(b) Presence of risk 

(c) Sale or exchange of goods and services 

(d) Salary and wages 

0.8 

5 Economic activities may be classified into business, ___________ and employment 

(a) Profession 

(b) occupation 

(c) vocation 

(d) work 

0.8 

6 Human activities are of ____________ types 

(a) One                (b) two                 (c) three                (d) four 

0.8 

7 Commerce includes activities relating to trade and _________________ to trade. 

(a) Supporting 

(b) subsidiaries 

0.8 



(c) auxiliaries 

(d) none of these 

8 Following are the characteristics of business risks. One of then is not correct. Please 

identify it. 

(a) Loss is the reward for risk bearing 

(b) Business risks are due to uncertainties 

(c) Risk is an essential component of every business 

(d) Degree of risk depends mainly upon the nature and size of business 

0.8 

9 Which one of the following may not be a factor behind starting a business? 

(a) Routine workload 

(b) size of the firm 

(c) finance 

(d) location of the business 

0.8 

10 Which of the following cannot be classified as an objective of business? 

(a) Investment 

(b) Productivity 

(c) Innovation 

(d) Profit earning 

0.8 

11 Which of the following cannot be classified as an auxiliary to trade? 

(a) Mining 

(b) Insurance 

(c) Warehousing 

(d) Transport 

0.8 

12 Which of the broad categories of industries covers oil refinery and sugar mills? 

(a) Primary 

(b) Secondary 

(c) Tertiary 

(d) None of these 

0.8 

13 Which of the following is not an example of non-economic activity? 

(a) Patriotism 

(b) teaching 

(c) sentiment 

(d) sympathy 

0.8 

14 Transfer of interest exists in the case of 

(a) Profession 

(b) employment 

(c) business 

(d) none of these 

0.8 

15 At least 10 adults, no maximum limit in case of ________ 

(a) Cooperative Society 

(b) Joint Hindu Family 

(c) Partnership 

(d) Company 

0.8 

16 What is the limit of members in case of a Private Company? 0.8 



(a) 2               (b) 7                  (c) 10               (d) 50 

17 The life of sole proprietorship business is ___________ 

(a) Unstable 

(b) Stable 

(c) Very short life             

(d) Long life 

0.8 

18 Provision of residential accommodation to the members at reasonable rates is the 

objective of 

(a) Consumers cooperative 

(b) Credit cooperative 

(c) Housing cooperative 

(d) Producers cooperative 

0.8 

19 Provision of residential accommodation to the members at reasonable rates is the 

objective of 

(a) Consumers cooperative 

(b) Credit cooperative 

(c) Housing cooperative 

(d) Producers cooperative 

0.8 

20 The maximum number of partners allowed in the banking business are 

(a) Two                   (b) Twenty              (c) No limit              (d) Ten 

0.8 

21 Fishing are under which type of industries, 

(a) primary 

(b) secondary 

(c) tertiary 

(d) none of these 

0.8 

22 How many types of economic activities, 

(a) Two             (b) one              (c) three              (d) four 

0.8 

23 How many types of trade are divided, 

(a) one              (b) Two              (c) three            (d) four 

0.8 

24 How many types of objectives of business are divided, 

(a) one              (b) Two             (c) three            (d) four 

0.8 

 SECTION-B 0.8 

25 The structure in which there is separation of ownership and management as per law is 

called 

(a) Company 

(b) All business organizations 

(c) Partnership 

(d) Sole proprietorship 

0.8 

26 Which of the following is a characteristic of a co-operative? 

(a) Profits are not subject to income tax. 

(b) One vote per share. 

0.8 



(c) Dividends are paid on a per share basis. 

(d) all of the above. 

27 PSE’s are organizations owned by 

(a) Joint Hindu family 

(b) Government 

(c) Foreign Companies 

(d) Private entrepreneurs 

0.8 

28 A government company is any company in which the paid up capital held by the 

government is not less than 

(a) 49 percent             (b) 51 percent            (c) 50 percent             (d) 25 percent 

0.8 

29 Indian economy is a 

(a) socialist economy 

(b) pure market economy 

(c) mixed economy 

(d) traditional economy 

0.8 

30 Which of the following enterprises may benefit the most by an established brand name at 

the time of incorporation? 

(a) Departmental Undertaking 

(b) Government Company 

(c) Statutory corporations 

(d) Joint Venture 

0.8 

31 Which of the following types of organisations has the capability of expansion of market 

territory and operates through a network of subsidiaries, branches and affiliates? 

(a) MOFA 

(b) MNC 

(c) Public Sector enterprises 

(d) Private sector enterprises 

0.8 

32 The public sector enterprises are to invest and operate in certain spheres. Which of the 

following is not one of these core sectors? 

(a) Civil aviation 

(b) Power generation plants 

(c) Pharmaceuticals 

(d) Project management consultancies 

0.8 

33 The shares of a Government Company are purchased in the name of which of the 

following? 

(a) The Indian Government. 

(b) The President of India. 

(c) The Chief Minister of the state, where the head office of the company lies. 

(d) The Managing Director of the company. 

0.8 

34 The funding of which of the following enterprise comes directly from the government 

treasury, is under an annual appropriation from the budget of the government and the 

revenue earned by it is also paid into the treasury? 

(a) Departmental undertaking 

(b) Statutory corporation 

(c) Government company 

0.8 



(d) Cooperatives 

35 Which of the following is not a function of insurance? 

(a) Risk sharing 

(b) Assist in capital formation 

(c) Lending of funds 

(d) None of the above 

0.8 

36 The functions of a commerce include 

(a) acceptance of deposits 

(b) granting of loans 

(c) Locker facility 

(d) all the above 

0.8 

37 Time utility is created by 

(a) Transportation 

(b) Banking 

(c) Warehousing 

(d) Communication 

0.8 

38 It is not a type of general insurance 

(a) Marine Insurance 

(b) Fidelity Insurance 

(c) Fire Insurance 

(d) Life Insurance 

0.8 

39 Which of the following is not applicable in life insurance contract? 

(a) Conditional contract 

(b) Unilateral contract 

(c) Indemnity contract 

(d) None of the above 

0.8 

40 Which is considered as the cheapest means of transportation 

(a) Air             (b) Road             (c) Water            (d) Railway 

0.8 

41 Which of the following is a contract of Indemnity 

(a) Marine Insurance 

(b)Fire Insurance 

(c) Life Insurance 

(d) all the above 

0.8 

42 Which is the central Bank of India 

(a) Central Bank 

(b)State Bank of India 

(c) Bank of India 

(d) Reserve Bank of India 

0.8 

43 Here, parties involved in the electronic transactions are from within a given business firm, 

hence, the name is ________ 

(a) Intra-C Commerce 

(b) Intra-D Commerce 

(c) Intra-B Commerce 

(d) Intra-A Commerce 

0.8 



44 Both Sellers and buyers are business firms, under ___type of e-commerce transaction 

(a) B2B Commerce 

(b) C2B Commerce 

(c) B2C Commerce 

(d) C2C Commerce 

0.8 

45 How many types of cooperative organization are divided, 

(a) three             (b) four                 (c) five              (d) six 

0.8 

46 How many process formation of joint stock company, 

(a) Two            (b) Three                   (c) four            (d) five 

0.8 

47 How many types of public sector enterprises are divided, 

(a) Two              (b) Three               (c) four              (d) five 

0.8 

48 How many types of bank account divided, 

(a) Two             (b) three                  (c) four              (d) five 

0.8 

 SECTION-C 0.8 

49 Which method is very popular for making online transactions? 

(a) Credit Card 

(b) All of these 

(c) Net banking 

(d) Debit Card 

0.8 

50 ____________ refers to contracting out some of its activities to a third party which were 

earlier performed by the organisation. 

(a) BPO 

(b) E-Commerce 

(c) Outsourcing 

(d) E-Banking 

0.8 

51 Under what method payment is made at the time of physical delivery of goods 

(a) Cash on delivery 

(b) Debit card payment 

(c) Credit card payment 

(d) Prepaid amount 

0.8 

52 Carbon monoxide emitted by automobiles directly contributes to 

(a) Water pollution 

(b) Noise pollution 

(c) Land pollution 

(d) Air pollution 

0.8 

53 That an enterprise must behave as a good citizen is an example of its responsibility 

towards 

(a) Owners 

(b) Workers 

(c) Consumers 

0.8 



(d) Community 

54 Which of the following can explain the need for pollution control? 

(a) Cost savings 

(b) Reduced risk of liability 

(c) Reduction of health hazards 

(d) All of them 

0.8 

55 Which of the following can explain the need for pollution control? 

(a) Cost savings 

(b) Reduced risk of liability 

(c) Reduction of health hazards 

(d) All of them 

0.8 

56 Business people have the skills to solve 

(a) All social problems 

(b) Some social problems 

(c) No social problems 

(d) All economic problems 

0.8 

57 Social responsibility is 

(a) Same as legal responsibility 

(b) Broader than legal responsibility 

(c) Narrower than legal responsibility 

(d) None of them 

0.8 

58 The business community’s aversion to binding international legal standards governing 

corporate operations contrasts with its strong advocacy of international law commitments 

applied to the obligation of governments towards 

(a) Banks 

(b) Business and Shareholder itself 

(c) Suppliers 

(d) Foreign investors 

0.8 

59 How many types of insurance are divided, 

(a) Two               (b) Three                (c) four              (d) five 

0.8 

60 How many types of fire insurance are divided, 

(a) Two              (b) Three                 (c) four              (d) five 
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